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Answers of all the questions (objective as well
as descriptive) are to be given in the main
answer-book only. Answers of objective type
questions must be given in sequential order.
Similarly all the parts of one question of
de_s'-criptive part should be answered at one place
in the answer-book. One complete question

should not be answered at different places in

the answer-book.
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PART-I1 (OBJECTIVE)

Maximum Mark
| ' s : 40
Answer of Question No. 1(i) to (x) each should
[ H
::'t ::ceed 20 words. Each question carries 2
arks. Answer of Question Ng, 2(i) to (v) each

Should not exceed 5
0 .
carries 4 marks. word?‘ Each question
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(i) Give two main objects of audit.
FRHU F T THE I =@y
(tii) Give two examples of contingent liability.
gfey Tfaa & & | i
(iv) Give two limitations of internal audit.
srafes HHaw # o HA S|
() To whom a company auditor address his
report ? .
¥ ?
(vi) Give any four techniques of management
accounting.

Ty d@iEd H FE 9R TR Fana |
(vii) What is common-size balance sheet ?
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(ii)

(1)

(iv)
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(v)

Give any four names of activity ratios.
e sod < F AT TH wWawry
What is pay-back period ?

Y-t safy &y ¢ 7

What are the objects of an audit programme ?

IR FUFY B [y 7y € ?
“Vouching is the backbone of auditing” Explain,

" T W eREl 21 wwmy

Give any four advantages of management
accounting.

Y |E@HT ® 5 HR AWM waigd
What do you mean by Cash Flow Statement ?

58 yo® frrw ¥ s =1 wen § 2

A project ;equires an initial investment of 2 2,00,000
and involves a net cash flow of 2 50,000 each
year for 8 years. Cost of capital is 10%. Find
out the net present value if present value of
¥ 1.00 for 8 years at 10% discount rate is
T 5.335.
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PART-II (DESCRIPTIVE)

Maximum Marks : 60

Attempt three questions in all, selecting one

question from each Section. Each guestion
carries 20 marks.
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Section-A (GUE-37)
What is an audit programme ? Give essentials of a good
audit programme.
FRH FEAFA TN T ? TE oD AR wrdwn B
HEYgS oed Garsd |
Or (3r97am)

Explain the difference among vouching, verification and
valuation. What are the duties of an auditor with respect
to valuation of stock ?
THIUA, FE9 Ud Hedied H R W HIAg) =i
F TEEA B wEy 4 TF AhyE B i wued
£ 7

Section-B (@US-9)

What is qualified report ? Draft an audit report
indicating any three qualifications.
wEifca i 7 § 7 fR o wawed W giE
T TF sayw R TR =ifee)
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The following figures relate to two companies : =1 faaro & s w A wifem

3 =G ¥ gefag dles fefafaa € - " W s
(Z in lakhs) () w@&ft s
Particulars A Ltd. B Ltd. () RU-HEA I
Sales 1,500 1,000 () TETEE 379, el
Variable costs 600 300 () A & I |
Contribution 900 700 Balance Sheet of ABC Ltd.
Fixed cost 450 400 as on 31st March, 2015
Earnings before interest and tax 450 300 Particulars Current Previous
Interest 150 100 Year Year
Profit Before T
rohit Before fax 300 200 2014-15 (?) 2013-14 ()
You are required to :
Equity and Liabilities
)] Calculate the operating, financial and combined
leverage for the two companies, and (1) Shareholders Fund :
(if} Comment on the relative risk position of {a) Share capital ) 1,00,000
them.
L CARE tb) Reserve and Surplus 50,000
() a:ﬁ W &1 m ﬁiﬁ-q qa' ﬁ%m 12y Non-current Liabiflities :
T HRE %, Gzl . Long-term Borrowing
®) '%l b 3‘3 h) {Debentures) 2.00,000
Section-C (m_m i3) Current Liabilities :
5. From the following statement, calculate : Trade Payables
() Current ratio iCreditors ¥ 30.000
(i) Quick ratio + Bills payables
iiz) Debt-equity ratio
(ia) equity ¥ 20,000 50,000
(iv) Proprietory ratio, and —_—
' Total 4.00,000
(v) Solvency ratio. -
3138-]
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Anretn

11) Non:current assclg :

Fixed sssets {Net) 2,70,000
12Y Current Asacls ©
ta? Inventorics 80,000
(b} Trande Receivables 30.000
(¢! Cash and cash
equivalents 20,000
Total w
Or (TE)

From the following comparative Balance Sheets, prepare
Cash Flow Statement :

frtfefean qommrs frafy faail 4 dog waw @™
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Comparative Balance Sheets

as on 31st March, 2014 and 2015

Liabilities 2018 | 20014 | Assets 2013 1 2014
1 ) 44 i
Share capital 50,000 45000 | Land 8,000 7.000
Sinking fund 16000 | 12,000 | Buildings 60,000 | 60,000
Retained Eamings 13950 | 16275 | Fumiture 10000 | 10000
Provision lor Sinking Fund
Doubtful debis 1,350 1,425 Investment 16000 | 12,000
Accumulated depreciation - Stock 25000 | 20,600
Building 12,000 9,000 | Debtors 15,000 15,000
Furniture 3,200 2400 | Bills receivable 6.200 3,500
Loan on Mortgage 40,000 40,000 | Cash at Bank 213001 23,500
Bills payable 25,000 25600
1L.GL500 |1,51.600: 161,500 | 1,51,600
3138-1 7
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Additional Information :
(i)
{iE)

The net profit for the year amounted to T 6,675.

A dividend amounting to ¥ 5,000 was paid during
the year.
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